
Think then Solve



Exercise 1

An opaque disk of radius 𝐑 = 𝟏𝟎𝒄𝒎 is placed in a dark room

between a point source (S) and a screen.

The plane of the disk is parallel to that of the screen and they

are 80cm apart. (S) belongs to the axis of the disk, and it is at

a distance of 50 cm from the disk.
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Exercise 1

1) Draw a figure, then show on the screen the formed

shadow.
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Exercise 1

2) Compare the size of the shadow to that of the disk.

The shadow of the disk is larger than the disk it self

3) Determine, by calculation, the radius of the formed

shadow.

𝒅𝒊𝒔𝒕𝒂𝒏𝒄𝒆 𝒃𝒆𝒕𝒘𝒆𝒆𝒏 𝑺 𝒂𝒏𝒅 𝒅𝒊𝒔𝒌

𝒅𝒊𝒔𝒕𝒂𝒏𝒄𝒆 𝒃𝒆𝒕𝒘𝒆𝒆𝒏 (𝑺) 𝒂𝒏𝒅 𝒔𝒉𝒂𝒅𝒐𝒘
=

𝒔𝒊𝒛𝒆 𝒐𝒇 𝒅𝒊𝒔𝒌

𝒔𝒊𝒛𝒆 𝒐𝒇 𝒔𝒉𝒂𝒅𝒐𝒘

𝟓𝟎

𝟓𝟎 + 𝟖𝟎
=

𝟏𝟎

𝒔𝒊𝒛𝒆 𝒐𝒇 𝒔𝒉𝒂𝒅𝒐𝒘
𝒔𝒊𝒛𝒆 𝒐𝒇 𝒔𝒉𝒂𝒅𝒐𝒘 =

𝟏𝟑𝟎 × 𝟏𝟎

𝟓𝟎

𝒔𝒊𝒛𝒆 𝒐𝒇 𝒔𝒉𝒂𝒅𝒐𝒘 = 𝟐𝟔𝒄𝒎





Think then Solve



Exercise 2

A point source (S) is placed, on the ground in a dark room, in

front of an opaque vertical rod AB. B is on the ground and

the length of AB is 20 cm.

A vertical screen (E) is placed at a distance of 40 cm behind

the rod
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Exercise 2

1) The length of the shadow A'B’ formed on the screen is

double that of AB. Determine the position of the source (S)

relative to AB
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Exercise 2

2) Determine the distance between the point source S and the

rod AB.
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𝐀′𝐁′
=
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𝟐𝟎

𝟒𝟎
=

𝒙

𝒙 + 𝟒𝟎

𝟏

𝟐
=

𝒙

𝒙 + 𝟒𝟎
𝟐𝒙 = 𝒙 + 𝟒𝟎 𝒙 = 𝟒𝟎𝒄𝒎




